
Potenzgesetze: Potenzen

Aufgabenstellung: Welcher der Terme a)-d) ist gleich dem ursprünglichen Term?

Terme richtig

1 xn⋅xm , x∈ℝ , n , m∈ℤ

a) = xn⋅m

b) = xnm X

c) = xn
m

d) =x⋅x n⋅m

2 xn⋅yn , x , y∈ℝ , n∈ℤ

a) =x⋅y n X

b) =x⋅y 2n

c) =x y n

d) =x y 2n

3 xn−m , x∈ℝ , n ,m∈ℤ

a) = xn
m

b) = xn−xm

c)
=
xm

xn

d)
=
xn

xm
X
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Terme richtig

4 xn

yn
, x , y∈ℝ , n∈ℤ

a) =
x
y

b)
= xy 

n

X

c)
= xy 

2n

d)
= yx 

n

5 x n
m

, x∈ℝ , n ,m∈ℤ

a) = xnm

b) = x
nm

c) = xn⋅m X

d) = xn−m

6 x−n , x∈ℝ , n∈ℕ

a) =
1

xn
X

b) =
n
 x

c)
= x

1
n

d) =−xn 
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